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fk =1;
for (1I=1; 1<=k; 1++)
1
fk = fk * I;
}




#include <stdio.h> Sl
int main(void) o B A R factorial(int n)

(S REAM? ot
int 1, k, m, n;

float fk, fm. fn Jk

scanf(*"%d%d° !
fk = 1( . \/FTH‘\/F] for (|:1, i<:ﬂ; i++)
’ f=f*i

return f;

for (1I=1; iI<=k; I
fk = fk * i;®
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float fk, fm, fn;
scanf(**%d%d%d", &k, &m, &n);
fk = factorial(k);
fm = factorial(m);

printf("%f\n*, fk/(fm-+fn)), fn = factorial(n);

return 0; printf(**%f\n"", fk/(fm+fn));
return O;




float factorial(int n) BN
L RYKR BB FERBHR)
float f = 1; {
for (i=1; i<=n; i++) RREAA ; {
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return f;
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#include <stdio.h>
float factorial (intn)

{ main {4
INt I,
float f=1;
for (I=1; i<=n; 1++)
f=7*] ) v L .
return f: factorial 451 A%

}

int main(void)

{
Int k, m, n;
float fk, fm, fn;
scanf("%d%d%d", &k, &m, &n)
fk = factorial (k): ~
fm = factorial(m); Ll ” tactorial o

printf("%f\n", fk/(fm+fn));

return O; Eﬁ@ﬁ Qii@ﬁ Eﬁ@ﬁ
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n BRI A VE AL E )
n Bl: printf(""%R\n", fk/(fm-+fn)):
n E@Wﬁ; ,II sziéﬁﬁtj

n #: fk = factorial(k);
n BRBOAMTEAR— I BEHIZH

n B: printf("'%f", factorial(k)/(factorial(m) + factorial(n)));
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#include <stdio.h>

doubleaverage(int x, inty) /[BEE X, xflyRHENES

{ 1
double result;
result = (x +y) / 2.0;
return result;

}

Int main(void )

{

int a, b;
double ave;
scanf(“% d%d’
ave = average(a, b); IIREGRH, afibEPAES
printf(“Average of %d and %d is % .1f\n”, a, b, ave);
return O;
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#include <stdio.h>
void swap(int a, int b)

{ int t; b

t=a; a=b; b=t;
printf(“AZ#f5: %d,%d\n”, a, b);

! AR 5 9

Int main(void) 5. 95

{
Int x=5, y=9;
printf(“aZZ#HFi: %d %d\n”, X, y);
swap(X, Y); a0 B 7E 3 R F P 3 nixX

printf(“BEBTEHLIRIT: %d %d\n”, x, y); SEEaCIER Lo E s

return O: A






